
Mrs Millett’s help sheet 

 
Let’s look at Rosie first – she has 10p to spend… 
10p can be made like this… 
2p+2p+2p+2p+2p so how many chews can she buy? 
5p+5p+5p+5p so how many Chocko bars can she buy? 
7p+3p so what items could she buy? 
5p+3p+2p so what items could she buy? 

 
Alice - One of everything = 2p+3p+5p+7p=17p so what other item can she buy? 
 
James - apart from 2, which sweet divides into 20 without a remainder? 
20÷3? 20÷5? 20÷7?   
 
Katie – 5p+5p+7p+3p=20p what sweets are these? 
 
Henry -  +  + + + + + + = 20p 
 


